LAW SCHOOL COUNCIL RSO Funding Allocation Report

Meeting Date: 3/29/23 Meeting Time: 7 pm Meeting Location: Zoom LSC Members Present: Samantha Seiglie, Briana Bedoya, Cara Campbell, Sarai Glaze, Keeley Smith, Leila Oberschall, Emma Wells

Name of RSO	Event Information (Date, Location) Just the EVENT name	Food	Clothing/ Apparel	Contractual services	Travel	Expenses (i.e. Decorations, meeting space)	Total
Black Law Student Association	End of the Year Banquet 4/16/23 at 5-7 pm On Campus	\$1,259.94					\$1,259.94
FSU Law Business Law Society	Meet Your New Board Members 4/13/23 at 12:30 pm On Campus	\$1,537.25					\$1,537.25

Real Property Probate and Trust Law Society	What Does an Underwriting Attorney Do? 4/11/23 at 12:30 pm On Campus	\$207.12			\$207.12
Technology & Entrepreneurs hip Club	Legal Hackathon 4/6/23 On Campus		\$395.67		\$395.67
Total					\$3,399.98

Meeting Minutes

Organization: BLSA

Date/time of event: 4/16/23 at 5-7 pm Amount requested: \$1259.94

Legacy catering

- Latin Flavors (60 at \$19.69 a piece) (\$1,181.40)
- Iced Tea per gallon (2 at \$17.99 a piece) (\$35.98)
- Iced Water per gallon (2 at \$1.29 a piece) (\$2.58)
- Strawberry Mint Infused Lemonade per gallon (2 at \$19.99 a piece) (\$39.98)

Purpose of funds: End of the Year Banquet

The Black Law Student Association will be hosting their annual end-of-the-year banquet. This event will honor and celebrate the outgoing 3L students. In addition, the event will highlight the achievements of the Black Law Student Association throughout the school year and will bring together Alumni, current and outgoing students. The event will also host a Black Alumni Network member who will be the guest speaker and the organization will provide a dinner buffet catered by Legacy Dining. The event is open to the entire student body.

	Samantha Seiglie	Briana Bedoya	Cara Campbell	Sarai Glaze	Keeley Smith	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	-	YES	YES	YES

VOTE: YES

Note: Sarai abstains due to presence on BLSA executive board

Organization: FSU Law Business Law Society

Date/time of event: 4/13/23 at 12:30 pm Amount requested: \$1,430

Tropical Smoothie Cafe

- Jetty Punch (16 at \$6.79 a piece) (\$108.64)
- Kiwi Quencher (16 at \$6.79 a piece) (\$108.64)
- Paradise Point (16 at \$6.79 a piece) (\$108.64)
- Blimey Limey (16 at \$6.79 a piece) (\$108.64)
- Pomegranate Plunge (16 at \$7.69 a piece) (\$123.04)
- Blueberry Bliss (16 at \$6.79 a piece) (\$108.64)
- Mango Magic (20 at \$6.79 a piece) (\$135.80)
- Sunrise Sunset (20 at \$6.79 a piece) (\$135.80)
- Bahama Mama (16 at \$7.69 a piece) (\$123.04)
- Peanut Butter Cup (16 at \$7.69 a piece) (\$123.04)
- Bench Bum (16 at \$7.69 a piece) (\$123.04)
- Mocha Madness (16 at \$7.69 a piece) (\$123.04)

Purpose of funds: Meet Your New Board Members

We would like to provide Smoothies on the green to end the semester and introduce the new Board Members who will run BLS for the 2023-2024 school year. This time of year, as the weather is heating up, BLS couldn't imagine a better way that to welcome in the new board and introduce them to our members. Especially, since over half of our board is graduating and with our elections coming to an end. The 2022 - 2023 school year was full of other wonderful activities by BLS and collaborations and we hope to continue our mission of spreading knowledge, connections, and opportunities under the business law umbrella to all FSU Law Students. We know the board will do a great job in keeping alive our mission and making each year better than the last. Additionally, with finals approaching and another wave of students coming in the fall, shouldn't we celebrate with refreshing smoothies to welcome in our new board and all the possibilities and opportunities yet to come.

	Samantha Seiglie	Briana Bedoya	Cara Campbell	Sarai Glaze	Keeley Smith	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

VOTE: YES

Organization: Real Property Probate and Trust Law Society

Date/time of event: 4/11/23 at 12:30 pm Amount requested: \$207.12

Chick-fil-A

- Regular Chick-fil-A Chicken Sandwich Packaged Meal (24 at \$8.63 a piece) (\$207.12)

Purpose of funds: What Does an Underwriting Attorney Do?

Presenters will be practicing attorneys will explain to students what title/underwriting attorneys do and the importance of getting connected with areas of law you are interested in. Presenters are Joe Tschida and Lindsey Shomali of National Title InsuranceCompany. Mr. Tschida and Ms. Shomali are both members of the Real Property, Probate & Trust Law Section of the Florida Bar. Our speakers will also highlight the importance of interning in an area of law students are interested in and the valuable skills interns acquire.

	Samantha Seiglie	Briana Bedoya	Cara Campbell	Sarai Glaze	Keeley Smith	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

VOTE: YES

Organization: technology & Entrepreneurship Club

Date/time of event: 4/6/23 Amount requested: \$395.67

Tformation

- Small (6 at \$15.83 a piece) (\$94.98)
- Medium (8 at \$15.83 a piece) (\$126.64)
- Large (9 at \$15.83 a piece) (\$142.47)
- X-Large (2 at \$15.83 a piece) (\$31.66)

Purpose of funds: Legal Hackathon

Facing the legal and technological challenges of the future will require innovation and collaboration. That is why the Technology and Entrepreneurship Club is introducing a new kind of competition at FSU Law. We are inviting teams of students to identify a current or foreseeable problem within the legal profession and then develop a technological solution. After forming a team, participants will identify a problem and develop a solution--teams are encouraged to think outside the box. Then, teams will create pitch deck to explain and promote their idea/solution to present in front of judges on competition day. * How will you advertise the ev

	Samantha Seiglie	Briana Bedoya	Cara Campbell	Sarai Glaze	Keeley Smith	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

VOTE: YES